Exercise (Week 12)
December 10, 2021

I 4 s x| > &30 2 af ¥ § 38 58 9735 2 e vector space Po(R). £
S={2x? —3x+1,x> +4x—2,—8x> + 12x — 4,x* +37x — 17, —3x> — 5x+ 8}
£ V =Span(S).
(a) #4533 S - B subset A= V - = basis.
(b) ##&-S ¢ HischnE B (a) ¢ #7{¥ 0 basis 7 linear combination.
WV AR 3 P(R).

2. Y RATF 2x3 F B 4735 69 vector space ¢ - B subspace
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(a) #45 7| V er- % basis.
(b) P MM, €V ® M;,M, % linearly independent.
(c) #H>2 Mi,Mp # B2,V ¢ ch— ¥ basis.
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3. TR R P B oy = 1 |,vo= 1 |,bva=]| =2 |, vu= 1| =
3 2 —1 1
-2 -1 —1 -1
3 2 —1 2

4 V =Span(vy,v2,V3,Vs).
(a) =5 7]EL A 28 V=Col(A), ¥ # A i* & echelon form P 4eie & pL 45
| V en- %8 basis.
(b) #4534 B 2 tF V =Row(B), ¥ # B i* = reduced echelon form # P 4o
P &35 3 V oen— % basis.
(c) & 7 *T4| basis #9755 (74 17 oL JAvR— B35 basis e 3 1L 437 R-H ¢
i basis B = ¥ — % basis ch& M e £
4. 4 & R* ¢ tha B subspace
W) =Span((1,1,1,1),(1,0,2,0),(0,2,1,1)),W, = Span((3,0,3,1),(3,2,3,2),(2,—1,2,0))

(a) HIaEE BB, # 8 W, :N(Bl), W, :N(Bz), Tt WNW, - e
basis.

(b) 1% WiNW, & basis 4 83 v = W +W, - & basis. i 14 % 5
dim(W1 + Wz) = dim(Wl) + dim(Wz) - dim(W1 N Wz).



